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2016

HOME SCIENCE
( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks 1x5=5
AR X I :
(@)

iS a non-human resource.
29 IRy S&E 9 |

(b)

is one of.the factors to be

considered in preparing blueprint of a
house.

T T (SR FRICS T FRIA (51 RS 2
| .

()

: 1S a process where hot air of a room
is pushed out.

— X 9F G I IR O S IO
m@tﬁ%ﬁaﬁm@.
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(2)

(d) Energy expenditure in light work is below

percent.
MY IS & AW @@ AR e
T T |
(e) Accumulation of acid in the muscle

results in physiological fatigue.

mwﬁtﬁw Gl o2 =1 Afe o
PR |

2. Write the names of the following : 1x5=5
SeTe MR wi fore

(a) Two institutions for savings

%59 o1 AfSH
(b) Two Consumer Protection Acts
ISERESRis A ET]

(¢) Two elements of energy management

% “iRerem o1 SeArT

(d) Two non-human resources
TRY SR Sop

(¢) Two non-electrical household equipment

TR T w1 e
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3. Write short notes on the following :

et frarTEa 5 Rl fora
(a) Importance of housing

ICI9RI AEEATS!

(b) Multipurpose room -
T3

(c) Value
f &

(d) Planning of time

ST “AfREE

(e) Indian Standard Institution
RO ME AP

2x5=10

4. Write notes on any four of the following :

wTs TarTRs R e wiiker et for -

(a) Importance of advertisement

R gy

5x4=20

(b) Duties or responsibilities of a consumer

GG (ST WRE A F97
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(4)

(c) Characteristics of resources

=g (AEPTR

(d) Physical fatigue
RS e M SR

(e) Electric iron

e 2%

(/i Methods of planning budget
e COF 1 “Tafo

. Why ventilation is necessary in a house?
Write about different ways of ventilation

applied in a house. 2+8=10
TZS IR [F9 acEen ? 9o RS e 9
RfSn anpreerem iy facy for |

Or / &%l *

What do you mean by blueprint of a house?
Write about the aspects to be considered _
while preparing blueprint of a house. 2+8=10

R T A R 2 1 sy 7o wicRICS T SR
fafe fmigen R forn 1
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6. What is decision making? Write about the

various types of decisions. 2+8=10
Prae a2 Wi /2 Pram gzr R[Kieq a9 [Raa
for o

Or / 5241

What do you mean by fatigue? What are the
external and internal causes of fatigue?

2+4+4=10
Fife a1 wem A 52 FR A eI AT
e FRPTR [ &2

. What is energy? How works are divided

according to energy cost? Write about the
elements of energy management. 2+3+5=10

& T 2 ST I SPIR IS @EmE Sl
391 (2R ? IS “ARoEmR SoimerEs R s

Or / 91

Explain about different methods of handling
family income. . 10

ofdaerR o e [fSq mfemzs e amm
341 |

. What is savings? What are its types? What

are the advantages of savings? 2+4+4=10Q

e e 162 W AR 60 sieem fRaemz
fofe?
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(6)

Or / %1

What do you mean by labour saving devices?
How labour saving devices are classified? 4
Write about the working principles and care
of any one electrical household equipment.

2+2+3+3=10

Y ANRPRl RGN A [ @2 WY SARRr
TRGRPTIRE (Pl et 41 tzer? R T
Ry I w1 SRgER FEA W T R
o :
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